B ®
B-TECH @MDUNTS'

BT5962

CEILING MOUNT B
FOR A FLAT SCREEN AND A DOME CAMERA

INSTALLATION GUIDE

(7]
[
—
-
S
—
—]
=T
=
(3]
[
R
(= =]

SPECIFICATIONS A

« Mounts a flat screen and a dome camera from the ceiling
+ Max load: 20kg (screen) / 5kg (camera)

« Available in two @38mm pole lengths:
BT5962-FD100 pole length 1000mm
BT5962-FD200 pole length 2000mm

« Recommended for screens up to 28"

« Suitable for screens with VESA fixings: 50 x 50mm,
75x75mm & 100 x T00mm

« Carousel suitable for cameras with fixings from

Z ] .
51mm up to 127.5mm apart m 28" VESA
« Integrated cable management v, Tow 100

CAMERA SCREEN

www.btechavmounts.com




CONTENTS

INSTAlIATION SAFETY NOTES..... v ssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssens 2
PATTS LiST..cuiveiieteteeeeteeeeetetesse s st ssse st s e seseses e s b s s seses s s et es e sesesassesesesassesesessesesessssessessesasesesaene 4
INSTAATION INSTIUCTIONS. ...ou vttt b s s ses s sessessssassassassesbessessessessessessessnaes 6
PrOAUCE DIMENSIONS.....cveeeerecrcececisiesiestsses s s sessessessesssssssassessessessessessessessessessesssssssassassassessessens 10
B-TECH CONTACT DELAIIS ...ttt sessssaesssssssessessessessessessessesssssesassassassas 12

INSTALLATION SAFETY INSTRUCTIONS
CAUTI O N + This mount is intended for use only with the

maximum weights indicated. Use with equipment heavier than the maximum
indicated may result in instability causing possible injury.

Do not attempt to install this product until all instructions and warnings have been read and properly understood.
Please keep these instructions for future reference.

Please check carefully to make sure there are no missing or defective parts - defective parts must never be used.
B-Tech AV Mounts, its distributors and dealers are not liable or responsible for damage or injury caused by improper
installation, improper use or failure to observe these safety instructions. In such cases, all guarantees will expire.

General

B-Tech AV Mounts recommends that a professional AV installer or other suitably qualified person install this product.
Great care must always be taken during installation as most AV equipment is of a fragile nature, possibly heavy and
easily damaged if dropped.

If you do not fully understand the instructions or are not sure how to install this product safely, then please consult a
professional for advice and/or to install this product for you. Failure to mount this product correctly may cause serious
injury or death, both during installation and at any time thereafter.

Do not mount any AV equipment that exceeds the specific weight limit of the product you are installing.

This weight limit will be clearly stated on each product and its packaging and will vary from product to product.

Product location

Please pay careful attention to where this product is located. Check load capacity of the ceiling prior to installation as

some surfaces are not suitable for installation. Designed for indoor use, this mount is suitable for public or home installation
If located in a public or frequently populated area ensure that the product is out of the immediate reach of people.

If any AV equipment is to be suspended over the likely path or location of people then great care should be taken to

secure all parts of the installation from falling.

When drilling holes it is essential to avoid contact with electrical cables and water or gas pipes contained within.

Use of a good quality live wire detector and hidden object locator is therefore recommended.

Only drill into structures when you are sure it is safe to do so.

Fixing hardware

It is highly recommended that all fixing screws be used where supplied and that the purpose of all other fixing hardware

is fully understood. In some cases more AV equipment fixing hardware will be supplied to accommodate different models
of equipment and set up configurations. The installer must be satisfied that any supplied fixing hardware is suitable for
each specific installation.

If any fixing screws or included hardware are deemed not sufficient for a safe installation then please consult a professional
or your local hardware store.

Hazard limitation

When routing cables take advantage of any built in cable management features that the product might provide and ensure
that all cables are tidy and secure. Check to see that any moving aspect of the product can do so unhindered by any cabling.
Some products have moving parts and the potential to cause injury through the crushing or trapping of fingers or other

body parts. Particular attention to the nature of moving parts is required especially when assembling installing and adjusting
during set up. Immediately after installation double-check that the work done is safe and secure. Double-check all

necessary fixings are present and are of ample tightness.

It is recommended that periodic inspections of the product and its fixing points are made as frequently as possible (no more
than 6 months apart) to ensure that safety is maintained.

If in doubt consult a professional AV installer or other suitably qualified person.




CN

(&

DE

ES

FR

JP

KR

NL

PL

PT

RU

B-Tech AV Mounts B A~ RHEAETWAVEZEARREMER AR LS, B-Tech AV Mounts REMNRER, 2HEHAX
AT ARUNLEMERNIRASIHAERAT, ATBMNREESENEL L | A XA TABIFRTIHNREAREE,

Spole¢nost B-Tech AV Mounts doporucuje provést instalaci tohoto produktu instalatora AV ¢i jinak zplsobilé osoby.
Spole¢nost B-Tech AV Mounts, jeji distributofi a prodejci nenesou prostfednictvim odborného odpov édnost za Skody nebo
zranéni zp Gsobena nevhodnou instalaci. Tento vyrobek je nutno umistit do vhodné konstrukce a pouzivat jen po uvedenou
maximalni vysku.

B-Tech AV Mounts empfiehlt, dass dieses Produkt durch einen qualifizierten AV-Techniker oder eine andere Person mit
geeigneter Qualifikation installiert wird. B-Tech AV Mounts, ihre Distributoren und Handler kdnnen nicht fir durch fehlerhafte
Montage verursachte Beschadigung oder Verletzung haftbar bzw. verantwortlich gemacht werden. Dieses Produkt muss auf
eine geeignetem Untergrund montiert werden und darf nur bis zum angegebenen Hochstgewicht verwendet werden.

B-Tech AV Mounts recomienda que un instalador de audio y video profesional u otra persona debidamente cualificada
instalen este producto. B-Tech AV Mounts, sus distribuidores y concesionarios no se hacen cargo ni se responsabilizan de
ningun dafo o lesién provocados por una instalacién inapropiada. Este producto se debe montar en una estructura adecuada
y se debe utilizar soportando solamente hasta el peso maximo indicado.

B-Tech AV Mounts recommande de confier l'installation de ce produit a un installateur AV professionnel ou a une autre
personne diment qualifiée. B-Tech AV Mounts, ses distributeurs et ses revendeurs ne sauraient étre tenus responsables de
tout dégat ou de toute blessure résultant d'une installation incorrecte. Ce produit doit é&tre monté sur un support approprié et
utilisé dans la limite du poids maximum indiqué.

B-Tech AV Mounts consiglia di affidare I'installazione di questo prodotto a un installatore specializzato o ad altra persona
adeguatamente qualificata. B-Tech AV Mounts, i suoi distributori e rivenditori non accettano alcuna responsabilita nei riguardi
di eventuali danni o infortuni causati da un’errata installazione. Questo prodotto deve essere fissato a una struttura idonea e
utilizzato unicamente sino al peso massimo indicato.

B-Tech AV Mounts |FAVERBDEFAR L ISBEE LI B A BA AN RRERET ST EAHELEELE T, B-Tech AV Mounts
EERFRIE BN I ElE TS LI B RIEH IO R VISR ICHEE SN RDBEPEEICH I 2EEEEVE A, BEICED
TEEHDREINBITELTWEWETAEH 2D CREMEIKFRGEEAMEIT TEEW, COBFDMNEISEEAE
THREBITELTWEWEDRWSHZHEEELTLEEL, IBE LIEETHIRAEIE T HAVEFEEE LIEWLWTLEELY,

B-Tech AV Mounts &= AV A2 %] A&7} == 2 33k %] 2] & 2k Aleho] A %8 A X3l =5 3y ) B-Tech AV Mounts
of o, A A = ol gk b A H S m=
1

ful

3L

AF ] A §17] ol 70 5 7)ol Felahal A 2. A FA AT I AV GH1E G5 vHI Al 2.

B-Tech AV Mounts adviseert om dit product te laten installeren door een professionele AV-installateur of andere hiervoor
gekwalificeerde persoon. B-Tech AV Mounts, haar distributeurs en dealers zijn niet aansprakelijk of verantwoordelijk voor
schade of letsel die is veroorzaakt door onoordeelkundige installatie. Dit product moet worden gemonteerd aan een
geschikte constructie, waarbij het aangegeven maximum gewicht niet mag worden overschreden.

Firma B-Tech AV Mounts zaleca, aby ten produkt byt instalowany przez profesjonalnych instalatoréw AV lub inny
odpowiednio przeszkolony personel. Firma B-Tech AV Mounts, jej dystrybutorzy i dealerzy nie ponosza odpowiedzialnosci
za uszkodzenia lub obrazenia ciata powstate w wyniku nieprawidowej instalacji. Niniejszy produkt musi by¢ amontowany
na odpowiedniej powierzchni, a podczas uzytkowania nie wolno przekracza¢ podanego maksymalnego obciazenia.

A B-Tech AV Mounts recomenda que a instalacdo deste produto seja efectuada por um instalador de AV instalador de AV
profissional ou outra pessoa devidamente habilitada. A B-Tech AV Mounts e os seus distribuidores e concessionarios nao
sdo responsaveis por danos ou lesdes causados por uma instalacdo incorrecta. Este produto tem de ser montado numa estrutura
adequada e utilizado somente até ao peso maximo indicado.

KomnaHus B-Tech AV Mounts pekomeHgyeT, UTo6bl yCTaHOBKa JAHHOTO V3Aenvs NPOU3BOAMIIACh MHXEHEPOM MO
yCTaHOBKe ayAtro-BUAEOTEXHUKM U APYTM CMELUANCTOM C COOTBETCTBYIOLLEN KBanudurKaumen. KomnaHums

B-Tech AV Mounts ee gucTpr6bioTopbl U AWepbl He HECYT OTBETCTBEHHOCTU 3a MOBPEXAEHNS WY TPABMbI, MONTyYeHHble
B pe3ynbTaTe HempaBUIbHON YCTaHOBKMU.

Ludie Jaali Jage (add 5l AV J) S 5 8 Cayina (i ol 80 gaaall Ad gall 3 jlaill el -y a3
S0l e Ugan ol da e o Hlaills Leae 5 g cdalsall 3 jlaill i o inal) 13a oS )

O ey Dkl ilaglasll o3a slel e e Skl e AN 5l e S 53 e daalill lilay!
.@;JJW\LM&&AES[\JA.“&J%&\J&M‘ u_x%a_)g\_m\_m{_mlfazu.mj\ (KYY u_x:xS_).a(P.y



BT5962 PARTS LIST

PLEASE KEEP THIS FOR FUTURE REFERENCE




A

ITEM DESCRIPTION QTY

1 | CEILING PLATE 1

2 | M8x 10mm HEX SCREW 2

3 | M6 x 5mm HEX GRUB SCREW 6

4 | @38mm POLE 1

5 | CEILING COVER PLATE 2

6 | @38mm COLLAR 1

7 | M8x 12mm HEX SCREW 4

8 | M6 x8mm HEX GRUB SCREW 2

9 | COLLAR COVER PLATE 2

10 | MOUNTING PLATE 1

11 | INTERFACE PLATE 1

12 | M4 x8mm PIN HEX SCREW 1

13 | CAROUSEL INTERFACE 1

14 | M4 x 12mm PIN HEX SCREW 4

15 M4 x 12mm SCREW 4

16 | M4 METAL WASHER 4

17 | MANUT 4

18 | M6 x 10mm SCREW 4

\@ 19 | M6 WASHER 4
20 | M6NUT 4

21 | 3AF HEX KEY 1

=]
22 | 4AF PIN HEX KEY 1
\@ 23 | 5AF HEX KEY 1
: Suitable for loads up to
\@ 20kg (screen) / 5kg (camera)

Drill

BT NN

INSTALLATION TOOLS REQUIRED

Pencil Spanner Screwdriver




INSTALLATION INSTRUCTIONS

MOUNT CEILING PLATE TO CEILING

i. Pre-drill holes for ceiling fixings (not supplied).

ii. Assemble two fixing screws on opposite sides, leaving a 10mm gap between
the screw head and ceiling.

iii. Hook item 1 onto the fixing screws and twist into position.

Leave 10mm gap to
hook on ceiling plate

CEILING

FIXING SCREWS
Not supplied
(example shown)

iv. Add remaining ceiling fixings and tighten all screws.

CEILING

FIXINGS




2 FIX POLE TO CEILING PLATE

i. Insertitem 4 intoitem 1 and secure in place with item 2.
ii. Tighten item 3, fixing item 4 to item 1.
iii. Fit item 5 to item 1.

Note: Align ceiling CEILING
plate hole with the

hole on the pole. \\@

CEILING

3

3 FIXMOUNTING PLATE ONTO POLE

i. Attach item 10 to item 6 using item 7

Note: Ensure item 8 is positioned on the back of item 6.
ii. Slide item 6 up item 4 and secure at desired height

by tightening item 8.

item 6.




FIX CAROUSEL INTERFACE TO POLE

i. Attach item 13 to the bottom of item 4 using item 2.

ii. Tighten item 3, securing item 13 to item 4.

Note: Align the hole on the
carousel interface with the
hole on the pole.

5 ATTACH CAMERA TO CAROUSEL INTERFACE

Fix the camera to item 13 using items 15 -20.




6 FIXINTERFACE PLATE TO SCREEN
" Attach item 11 to the rear of the

screen using item 14.

SCREEN

HOOK SCREEN ONTO MOUNTING PLATE

i. Hook item 8 onto item 10.
ii. Use item 12 to secure item 11 to item 10.

™\

SCREEN

S

™

%}///'

REEN

&




BT5962 DIMENSIONS

PLEASE KEEP THIS FOR FUTURE REFERENCE

CEILING MOUNT

SCREEN INTERFACE

CAROUSEL INTERFACE

®128.4mm

100mm

100mm
75mm
12X ® 5mm
IS el €
£ E £
= e
|
90mm
76mm
5Tmm
1 N
4X®43mm
33.5mm N 2% \ ]
$6.5mm © ) [ £} E
\ ‘ Sy ooy ¥
e \ |
30° /]
P ©128.4mm
30° ~ @ 60.5mm
. @ 144mm
30 A ©40.4mm

THESE INSTRUCTIONS ARE INTENDED AS A GUIDE ONLY AND B-TECH ACCEPTS NO
LIABILITY FOR THE ACCURACY OF THE INFORMATION CONTAINED IN THIS DOCUMENT.

10




BT5962 DIMENSIONS

PLEASE KEEP THIS FOR FUTURE REFERENCE

103mm

BT5962-100: 901Tmm / BT5962-200: 190Tmm

S
£
o
(@
A ' —
[ ]
| o o .
|
»38.1Tmm
S
S
O
m
o
(@
S
S
o
o
©
o
n
|-
)
~
S
€ L 62mm
@ ——— —
m
2 _ 23.9mm
S
=
- o 14.9mm
i -—
©
o
n
=
)
|
! e© o] DA4MM (o

32mm
2mm

@144mm

THESE INSTRUCTIONS ARE INTENDED AS A GUIDE ONLY AND B-TECH ACCEPTS NO
LIABILITY FOR THE ACCURACY OF THE INFORMATION CONTAINED IN THIS DOCUMENT.

1 Qg;



B-TECH AV MOUNTS

N

GE

info@btechavmounts.com

©2021 B-Tech International Design and Manufacturing Ltd. All rights reserved.
B-Tech AV Mounts is a division of B-Tech International Design and Manufacturing Ltd.
B-Tech AV Mounts and the B-Tech logo are registered trade marks.

All other brands and product names are trademarks of their respective owners.
Photographs are for illustrative purposes only. E&OE.

AMA-BT5962-V1.1-0821-110 MADE IN VIETNAM

For More Information Visit www.btechavmounts.com




